www.Padasalai.Net www.TrbTnpsc.com

National Means cum Merit
Scholarship Scheme
Examination 2012

Mental Ability Test

STATE INSTITUTE OF EDUCATION
UT CHANDIGARH

http://www.trbtnpsc.com/2014/02/nmms-exam-study-materials.html



Directions (1vaviPpdasalaifyet the fyder - (roybTnfrepme] & o7
following  questions,  four items g {?HEET[ S HE Siel /3R, qq'ig}
(numbers/ number pairs/ letter groups) fes 714 2| 999 ¥ i UF TR o
are given. Three of them are alike ina g = g e B 81 B9

certain way and one is different. Find : -
the odd one out from the alternatives, ﬁﬂﬁ‘:ﬁﬁw I iU T W Zﬁl- Eﬂ‘_ﬂ.

15 R 9 i3 3.5 456 4 e
). | |

| Ene 5L ISR 41 QRT

B A {2 n5s e 4. BC4
1

oo s 30 ey TS 3 ME L 4 19
5. : ¥

. RRR 0 I 3. PPP AT
6.

. ADG P EHI 3. <PSERD - Al IO

I A 210 7G S o]
3.

[ g0 WRulg I T [, T e
9,

fes. o 3. THE 30 AN e
10.

. CAR 7. BIKE TS 4. TRUCK

Directions (11 — 20):In the following &= : (11—20) : /= W=t
questions. there 15 a relationship i ([ ) & I 2l

between two figures on the left of the v w=y 2| =5 oy B g
sign (::). The same relationship exists 2 =3 2 29 o5 7 W
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between the figufeseto/aiectright of the A | Tewale 1 fdl BU fammeni
sign {.::]::'f which one is mis&iﬂgr Find % 5 < 9g i B |
the missing one from the alternatives. :
L [ B ma L]

i Tele 2. A i. D 4. E
12.. 16:25::49:7

(& 41 2. 56 i 64 4. 65
13. ACE:BDF:IKM:?

Ic JLN 2 JLM 2 ASD 4. HDE
14, 444 ;888 ::333:7

1. 666 R 5 3. 998 4, 111
19, 3,9025.8150,4:7

RS A9 2 Byl 3 2 4\ 9,27
16. HELICOPTER:AIR: CAR:?

1. ROAD 2. WATER 3. RAILL 4. AIR.

i

17, V1:Az24:7

S Y 27N 3% X 4 W
18. ST:QR:WX:?

. QK 2- YZ 3. TU 4. UV
19. " 36:65:81:7

1. i 2, 19 3. 9 A, TN B |
20, AB:34:11:7

1. 1012 2. 1112 3. 1011 4. 1213
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Directions [W'%ﬁ&a%a‘f‘ﬁ“{ﬁe following 29 :W{ﬁ\‘IT—Eﬁﬁ}OSC:COﬁ'H’ PEC |
questions, numbers are written in a F=W TH HH H fadt TE 2| 2
sequence. Find the missing number. 1o T foregl 9 ¥ 99 @ W= 1
replace the question mark. from the == Hfm) 7 gye g & = W

given alternatives. ey
< B B vl T e g e

1. 8. p. 5 3. 17 4, 7
22, 55,44,33, 2,11

1. 23 2 22 3 21 4, 33
23, 3,3,6,7, 1524 :

I 12 2. 6 3. i 4. 9
24. 1/5,2/25, 7, 41625, 5/3125

1. 3N25 2, 3165 4 3155 4, 3155
25 WS 7L

15 4 2 3 3 16 4. 3
26. 2,4,8,7, 14,16

i =12 i i 1 3. 10 I
27. 81.64,49.36.7. 16

[l 2. B2l LhGh iy 4. 28 |
28. 1/1,1/3,145, 2, 19, 1/11

. 16 o 1 | 3. I8 4 17
29. 2/5,3(4, 7, 52, 6/1

l. 4/4 L 4/3 3 53 4. 33
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Pl g BT 457 7

Directions (31 - 33): The: following fder : (31—33) : = ¥ &
questions are based on letter sequence. &} & IFHR U¥ WG & | TAD

In each sequence, Some letters are o § Fo W o9 £ Raw
missing. Find the correct alternative in s ,ﬂef g ﬁﬁﬁ |8 e
each question to fill the blanks. e s

3. ab____ababa_ a

—

1. abbb 2. abab 3. aaab 4. aabc

1. YXZX 2 XZYX 3. YXZZ 4. ZXYX
43, rs. . r s 8% IS
1. rsrs 2. rrsr 3. $5TS 4 SrSr

34. If the word INDIA is coded as @fe INDIA ¥ & WdHaER
JOEJB. how the word TRAIN will jopjg 7 &1 9 TRAIN &9
be coded? ot faar wmam?

. SQBHO 2. USBIO 3. UQBIO 4. UQBJO

15,
If the word NEOMAN is coded as af2 NEOMAN Y& & WHhaEr
OGRQFO, which word will be OGRQFO %I @t o e &
coded as OFQRGO? OFQRGO ¥ afaa fam
SAT?
.  NAMOEN 2. - NAMEON 3. NEOMAN
4. MANNEO

16.
: If PAINT is coded as 98765, IfE PAINT ¥ & Tafad 3o

EXCEL is coded as 12314, then 98765 ®I. EXCEL - Y& @&
how ACCEPT will be coded? '

DESAMDANT http://www.trbtnpsc.com/2014/02/nmiins-exam-study-materials.html :



37.

38,

30,

DESEMOEN 2

www.Padasalai.Net

1 Too456 2 833195

If man is called snake, smake 1s
called crocodile, crocodile is called
hear, bear is called zebra and zebra
is called an elephant, which 1s
reared as pet?

1. Bear iy Man

If nurse is called doctor, doctor is
called manager, manager is called
teacher, teacher is called engineer
and engineer is called dictator then
who teaches in the class?

1. Manager 2. Doctor

In a certain code language, the
sentences written in Column 1 are
coded as sentences written In

Column II, but the sequence of &

words is differenr. Decode the
sentences and find which word in
coded language mean sweet?

O E A el s
ACCEPT #g. wHafma o
ST

3 834596 4. E33598

e man 1 snake 'EE%ﬁ &, snake
F1 crocodile e 3, crocodile
T bear HEG T, bear H1 zebra
FHEd £, zebra T elephant FEd
s 2 e M o ) B
5

3, Crocodile 4. MNone

3TN murse @ doctor FEG T,
doctor ! manager ®EG T,
manager @1 teacher &EU &,
teacher 1 engineer HEL & I
engineer & dictator Fed B @
C: e A i 5 :

3. Engineer 4.  Principal

fadt wad W H, Fieaw |
foRg ¢ gyl &1 oA 11
forl T areml A HWofas
&g w=l o &H
g 9l @ Wadl @ U BW
sweﬂ?lﬁﬂﬂﬂﬂgﬁﬁﬁml

13.5

! Column [

Column II

i eat an apple

tee see pee !
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WWVIV.I-’HCI“dSaa:?.{Iﬂ\éeES SWE el Stiﬁ%\/‘#b | npsc]}om
ram is intelligent lee ree mee

JE= pee 2, See FISSTee 4. pgee .

Directions (40-45): In questions 40 to Fyer: (40—45) : = 40-45 T&
45, there are nine cells in each square. g7 Ff

For each question, there is a different g S
rule acgording fo which eight of the mr= 4y 3R TF @A @t
cells have been filled and one le_ﬂ 2| = ”F R U (?) 5
empty. There is a question mark (?) in o i 21 weE § fEw Bms o
the empty cell. Find out from the four

: : W Y &Y U @ §rd Ry g
alternatives the one which correctly e = Rmey 3
fills in the empty cell in the square 1%

q I
after undersianding the rule applied. gﬁ‘m Wt & 1‘; ;ﬁﬂ MY WA =

fere Sug®
40, .
32481 i
o e
9 | 1] ?
1 5 2 -3 3 (V] 4 -G
41.
12|72 | &4 i
24| 60| 7
36 |48 | 108
o 5 . & 06 3 . 94 4 65
42,
311 4-1
21111
211 L | ¥
13 1 i 5= 3. alc=] . 5
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21|21 21
15 13| 11
| 6 Ei?;:
I e 11
44
;Sdi_ll‘ﬂ
AR
_;54_“%32
= 2,0 23
15,

| 1/5 | 5/6 2/7

Lans | 2 | 549

3/125 | 9/216 | 8/343

1. 7726 RS

Directions (46-50): In questions 46 to < o: (46—50) :
50, replace the question mark (?) with 46 ¥ 50 5 TIF
a suitable number given below in each

question.

www. TrbTnpsc.com

T4 R 4. 10
3, 44 4.8 (11
3. —7H45 4. 37
gy e
us @ = fau
el § | @8l IR T
yeq e () & W W aray
FU P g it T H &y MY

£ Gk ALER http://www.trbtnpsc.com/2014/02/nmrhs-exam-study-materials.html
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2 12 3. 10 4.
47,
12 :_’ 9 _—: 1
2. 12 3 10 4.
48,
12 10 2 7 | [ |
6 4 4 L 20| o
2. 24 3 26 4.
49,
3 & ]
4 14 g 16 ) g 4 )
3 3 o
I 25, 26 4,

24 A
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|
3 [ 2
A a4 ik ‘ B 36 2 \ 5 z 7
3 x | 3
1
1. 59 2. 63 3 73 4. 47
Directions (51-55): In questions 51 to fo&fem: (51-55) - 'ES]
335, replace the question mark (?) with 51 § 55 ¥ Ui U™ a‘;
a suitable number given below ineach wwv s 4 ¥ 78 %
question. H'Fr fﬁ%ﬁ P & "M W
gﬁq @l T oH
Eﬁﬁ fore Suges w1
51
g 4 24
V.l'_.-'-'-\..‘
B @ 16 22 (\f) 10 10 7 S0
15 28 36
| 50 2 30 3 12 4. 25
52
20 40 25
25 ° 35 20 32 64 75
30 52 36
1 11 2 12 3 39 4. 17
DESaMon2 http://www.trbtnpsc.com/2014/02/nnis-exam-study-materials.html
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14 4
14 e 16 12 ° 64
36 &4
| 30 2, 40 3
54,
10 2
360 38
1 18 i EEkl. 3
535.
[+ b
15 o 23 21 e 31
29 46
1. 34 2, 33 3.

www. TrbTnpsc.com

25
30 14
36
37 4 27
1
2 18
36
6 4. 4
4
28 40
64
35 4. 44

Directions (56-65): In questions 56 to g =- (56—65) : U 9@ 56 9

65, vou are given a combination of g5 # qu & TF
letters followed by four alternatives 1. fagy wan & fms 1, 2, 3, 4 7
:.. 3 ':'tl'l.l:l. 4. Choose the E.llr:rnﬂﬁ'l.ff am ﬁﬁq %l

which most closely resembles the tar Rew =T =it feuo

miror-image  of  the  BVEN Gurgoyen 1 avivEE €

combination.

OESAMOET http://www.trbtn psc.com/2014/02/nmr*ﬁ-exam-study-mate rials.html
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JU33DA39

1. PEACEFUL 2. PAECEFUL

3. PEACAFUL 4. PEACEFULL
7.

ITADOARITVI

1. INTEROGATE 2. INTERROGETE

3. INTERROGATE 4,  INTEROGGATE
38.

TWUAHS313

1. ELEPHENT 2. ELEPHANT

3.  ELEFAANT 4. ELEPHANTE
39,

T3 TUI

. INTELLIGENT 2.  INTELIGGENT

3. INTALLIGENT 4.  INTELIIGENT
60,

WoITU8IAT2Id

1.  NOITUBIRTSID 2.  DISTREBUTION

3. DISTRIBUTOIN 4.  DISTRIBUTION
61.

22iNHBIH
1.  HIGHNISS 2. SSENHGIH
3. HIGHNESS 4. HIGHHNESS

DEBAMOSN2 http://Www.trbtnpsc.com/2014/02/nmms-&am-study-materials.htmI
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IM2091231AQW
l. WDRNESLGOSMF 2. WDRENSLGOSMF
3 FMSOGLSENRIDW 4. WDRNESLOGSMF
63.
9290920MIMSAO
| ORMFMOSPDPSP 2 ORMFMOSDPCP y
3. ORMFMOSPDEPCP 4. PRMFMOSPDCPCP
64,
JaAJ2anA9A3a ‘
1. DERPANDSALDL 2. DEPRANDSLADL
Lk DERPANDLADSL 4. DERPANDSLADL
63,
NOITANIMAX3
|, EXAMINATON 2. EXAMINATION
3. EXAMINATOIN 4, EXAMINTION

Directions (66-75): In the following fy&er: (66—75) : Fdw : frt woAl
questions, which of the interchange of 3 fo3 g0 st 4 9 o5 |9 firs
sign /signs would make the equations / Ry} & arge 920 AHIDHI B
correct? HE T 7

66. S+3x8-12+4=3

. +&- 2. e 3. +&x 4. +&+
67. 5+9-=-3x22=62

A . 3. +&x 4. +&+

DESSM/DEN 2 http://www.trbtnpsc.com/2014/02/nmkids-exam-study-materials.html
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1 +& 2 - &+ 3. +&% 4 + & +
69. 12+12-2x12=0

Poten il 24 1w =B 3o- o N 4.  None
70. S50x5=+[0~+2=30

e 2. xXEs 3. +&x 4 +&+
My I5=5x3+5-5m

. HE2 2E2 - &4 .= +&x 4. &+
72. 2= kik+12-4=10

L X o . A 4. None
73.00739=13-2+5x2=11

i. - 2. - = 3. + & X 4. None
74. 3x3-2+1=4

1. x&- 2.0 altt R e o s
75. 20x20+200-103 =303

1. +&- .1 - & = 3. +&x 4. -+Er.+
76. F is brother of A, C is daughter of A, K is sister of F and G is brother of

C. who is uncle of G?

1. AI PAEERN e Fi- 2K (e
77. A is father of C whose son is D. E is mother of F whose brother is D.

what is the relation of A and E?

1. Grandfather-in-law 2. " Brother 3. Father

4.  Father-in-law
DESAAONTZ 13
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18.

79.

80,

8l.

B2.

83,

&4,

83.

.Padas

M is daughter o A ‘-E'EIGEE son O is father of [yvvy_\ivu rbﬁ?ﬂﬁcﬁ]are linked?

I3 Grandmother 2. Aunt 3. Mother
4, Sister '

P 15 husband of Q. R 15 brother of P whose father is 8. T is sister of §.
how 5 & P are linked?

- Mother-in-law 2, Sister 3. Aunt
4, MNone

A is daughter of B & C. D is sister of A whose aunt is E? who is sister of
B2

1. D 2, B 3. Data Insufficient
4, None

P is sister of () whose brother is R. R is father of S who is son of T. how
S & P are related?

s e Wil e, = o Aning 3. Sister 4.  ‘Brother

M is brother of N, N is wife of O, whose daughter is P. who is mother of
P?

1. N A M =k 0 4. Data Insufficient
P iz wife of Q whose brother is 8. Q 15 son of R. Who are son of R?
1. Q&S 2 P&S 3. P&Q 4. MNone

A is father of B whose sister is C. D is daughter of C & E. HowE & B
are linked?

1 Father-in-law 2, Brother-in-law 3. Brother
4, S0

Ram is brother of Sita whose son is Shyam. Shyam’s grandfather is
Ramlal whose son 1s Rohan, Who 15 husband of Sita?

1. . None 2. Shyam 3.  Ramlal 4. Rohan

DR EMA10 http://www.trbtnpsc.com/2014/02/n ths-exam-study-materials.html



86.

87,

88.

89,

If AUNT"E¢epkid4ited by BVOU and BAVE.TBYNCB¥WIM. How to
represent UNCLE?

. ZMAMF 2. VMEMD 3. VODMF 4. WODPF

If “Ram Plays Chess” is represented by “He Do Game” and “Ram Works
Hard” is represented by “He Like Soft” and “Shyam Won Chess™ by *
His Game Like". What ‘Plays’ represent?

1. Game X Do 3. Like 4. He

If 25th October is Thursday. Which day is 1st November?

I. Thursday 2. Fnday 3. Wednesday 4. Sunday

If SOME is represented by RNLD and NONE by MNMD. How to
represent FUME?

k ETNF 2. ETLD 3. GVNF 4. None

If “+* represents ‘P’, *-* represents ‘S' , **' represents ‘M’ and *°/
represents “A’. What * - +/ * -* represent?

. MPASM 2. PMASP 3. APSMA 4.  SPAMS

DESAMTENZ http://www.trbtnpsc.com/2014/02/n nllfhs-exam-study-mate rials.html
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a sacond.
1. ane millionth

part of

2. ten millionth
3. one billionth
4 ten billionth

A car moves with a speed of 60 km/h
for 15 minutes and then with a speed
of 80 km/h for next 30 minutes. The

total distance covered by the car will
be :

i. 70 Km
2 55 Km
3. S0 Km
4. 35 Km

A mirror used by dentists to see
enlarged image of teeth is :

1. concave

2. convex

3. plane

4. rear view

Liquids exeart pressure on the

walls of container at same depth.

i unedqual

2.  equal

3. no

4.  sometimes unequal and

sometimes equal

If two forces are acting in opposite
diractions on an object, then nel force
acting on this will be :

1.  sum of both the forces.

2 difference of both the forces.
3.  multiple of bolh the forces.

4 none of these.

10.

WhedVa TEESEMs rubbed with a

piece of silk cloth then :

1. rod and cloth both acquire
positive charge.

2. rod bacomes positively charged
and cloth® negatively charged.

3. rod and cloth both acquire
negative charge.

4.  rod becomes negatively charged
and cloth positively charged.

The power of an earthguake is
expressed in terms of a magnitude on
a scale :

1. Decibel
2. Newton
3.  Richtar
4. Hertz

According to law of reflaction, angle of

incidence is always angle of
reflection.

1.  bigger than

2. smaller than

3. equalto

4.  bigger by 15" than

Image formed by plane mirror is :

1. virtual, behind the mirror and
eniargaed.

2.  virtual, behind the mirror and of
the same size as the objeck

3. real, at the surface of the mirror
and enlarged.

4. real, behind the mirror and of thie
samea size as the object.

Which of the following is not a member
of the solar system?
1. an asteroid

2 a satellite
3. a constellation
4 a comet

http://www.trbtn psc.com/2014[01/||mms-exam-study-mate rials.html



Bk
1

CESEMSAME

s AAomz-REraggsalaiNet um
6 A

|. Tw =Tl

2. =R Al

3. TF FEA

4. =W I=El

=iz %1 60 km/mr Tt =F # 15
T %, T Team a8 80 km/hr F
o= = 30 fiee awa # FE 50 T
# T WA g0 AT -

. 70 km

2. 55 km

3. S0 km

4. 35 km

% fou wEm R0 99 = T 2-
1. #ETA

3, FT

3. HRAA

4. wvH

A T = ZER W A O W
...... T TER £

1. #HEEH

2, HEA

1. T ARl

4, w FEWE T FE FEA

Ifz fedt 7 W % =4 fagda fam o
Fd FR E W W W TR FE FA
ﬁ_

. ©F =@ # g & FEl g
=A WEl % War ® F0EL '
3, oA FE ® R F SET '
4, TTH B wE T

I

[

10.

== FERWETERpSEcom™ F T F

T A -

|. B 99 %931 ITE YAEE Afad
= £l

2. BT HEERER AY HY BOEEE
A 2

1, B oY FIB 5H FOEEE B A
J |

4. DT FHUEER A HUS HEEEE B
= 2 o

gFm FI A T OAET RO A

w A £ -

1. EHiE
2. A
3. [
4. EZA

2. H W

3. ® T

4. B 15 =W

TEEE T ZW AT T WATeE g

‘:F.

|, wvrER, xdm % e Aw Wt |
AV, TOm % 4o A W W

e F AT |

3. WA, T % Y T A A |
4. @ratEs, =Hw ® 9w T R oE
AEA ® T |

frefafem ¥ A FF AR 9fER W

e T8 E 7

1, =R
2. IWE

3. A=

E

i g

[}
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11.. The chinmgalwibarsuameder reads
temperature from :

32°Clo 45° C
A CaC

3 Clo 44°C
AClod4x* C

i S S IS

12.  Needie of a compass always points in
- direction..

1.  north-south
2. easl-wesl
3. north-easl
4., south-west.

13. The solutions which do not change the
colour of either red or blue litmus paper
ara Known as:

1. acidic solutions

2 basic solutions

3.  neutral solutions

4 both acidk: and basic
solulions

14. The chemical name of vinegar is :
1. acetic acid
2. lormic acid
3. citric acid
4, lactic acid

16, When carbon dioxide Is passad
through lime water, it turns milky due
to the formation of :

1. calcium carbonate
2, calcium chloride

3. calcum ecarbonale
4.  calcium hydroxide

16. Match the terms of column A comectly
with thé phrases given in column B,

Column A Column B
L. Polyster P. bed sheels
and carpels

DESAMMENT

17.

18.

i wwiefiom Tnpsc.confd. tooth brushes
and parachutes
R. fabrics do not

wrinide easily

Nylon 5. non-stick cook
wares

i-P, i-Q, iR, iv-5
i-Q, P, w5, v-R
iR, #-5, P, iv-Q
i-R, -5, i#-Q, iv-P

i. Rayon

=

metal which can be cut with a knife :
Iron

copper

alumanum

polassium !
Match the subslances given in column
A with their uses given in column B.
Column A Column B

BN =P &0 =

. Gold P. thermometers
n. Aluminium Q. electnc wire
ii. Copper R. wrapping food
iv. Marcury S. jeweliory

1. -5, i-Q, §i-R, v-P

2. 8, iR, ii-Q, v-P

3. -8, i-Q, ii-P, v-R

4. |-Q, ii-R, iii-P, iv-5
Read the following carefully and choose
the corréct answer.

i, Coal, petroleum and natural gas
arp fossi fuels.

il Fossil fuels were formed from the
dead remains of living organisms
millions of years ago.

fil. Fossil fuels are inexhaustible

natural resources.

i and iii are correct

il and i are correct

i and ii are corract

all the above are comect

b @ P o=

http://www.trbtnpsc.com/2014/2lnnms-exam-study-materials.html
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GlEEIG]

. EEZE] gHEET A AEEHE e GETE 3
e e o A

1. 32°C & 45°C

2, 35°C ¥ 42°C

1. 33C ® 44°C

4. 30°C ®| 43°C

aFE T F G TO . 5T HT

#HE HFEA FE T
1. E-EiR
EERL R

i IR

4. Zim-afyEy

|t

. tg famm = wm sdE A fEeem
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i-P, ii-Q, iii-F, v-S

-0, ii-P, ii-S, iv-R
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iR, ii-S, iii-Q, iv-P
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1. i-5, ii-Q, iii-R, iv-P
2 -5, §i-R, ii-Q, v-P
3. -8, §i-Q, ii-P, iv-R
4 -Q, i-R, iii-P, iv-5
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Out of the TollwwitglashigitNete is better
fuel on the basis of calorfic value?

1. coal
2 keroseneg
3. biogas
4 LPG
21. To protact iron from rusling it is
nalvanized with metal;
1. aluminium
2, zing
3 nickel
4.  copper
22. Which zone of a flame does a goldsmith
use for melting gold and silver?
1.  outer non luminous zone
2.  middle luminous zone
< inner dark zone
4. both middle luminous and inner
dark zone
23. Which of the following can be bealen
into thin sheets?
1. Zinc
2. phosphorus
3, sulphur
4.  oxygen
24. Name the type of carbohydrale thal
can be digested by ruminant animals
but not by humans.
1.  cellulose
2. glucose
3.  fructose
4. no one among these
DES&MNAM2

23.

26.

27.

Matghwivebtepsscgwen in column A
wilh those in column B

Column A Column B
.. Chiorophyil P. baclena

. Nitrogen Q. heterotrophs
. Amarbel R. leaf

. Animals 5. Parasite

1. P, i-Q, §i-R, -5
=0, ii-P, ii-5, iv-R
-H, ii-P, -5, iv-Q
i-H. 1i-P, ii-Q, -5

A R

Which of the following statements is
not correct?

1. Forests protect the soil from
erosion.

2. Planls and animals in a forest
are nol dependent on one

another.

3.  Forests influence the climate and
water cycle,

4.  Soil helps forests to grow and
reganerate.

Match the items given in column A
with those in column B.

Column A Column B

i. kharif crops P. urea and super
phosphate

i. rabi crops Q. animal excreta,
cow dung,
urine and
plant waste

ii. chemical R. wheat, gram,

fertiliser pea

V. organic manure S, paddy and
maize

1. R, ii-S, ii-P v-Q

2. iR, S, ii-Q, v-P

3. 5ii-R, ii-P. iv-Q

4. S, ii-R, ii-Q v-P
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30,

gt

DESERGEM2

In leguminotd BEMEHRLILs) fixation
of nitrogen is facilitated by bactena:
1. lactobacillus

2.  rhizobium

3.  plasmodium

4.  streptomycin

Dug 1o deforestation

I there is increase in the
temparatura and pollution level on
the earth.

il the level of carbon dioxide
remains the same in the
almosphere.

ii. ground water level also gets
lowerad.

v, there will be increased chances
of natural calamities such as
floods and droughts.

Out of the following, corect answer s

1. i, i and iii

2 ii, Hi and iv

3. i, ii and v

4 I, il and iv

Hepatitis A is caused by

microarganism.

1.  bacleria

2. Wirus

s profozoa

4, funai

Frogs breathe through:
i. skin

2. lungs

3. gills

. skin and lungs

Flant cell differs from animal cell by
the presence of :

15 cell membrana

2 cell wall

3. nuclear membrane

4

vacuole

Sd.

345.

T

Readle EBESR%%&OE“NMW and then

answer.

L. Oviducl 15 the part where
development of baby takes place.

i.  Duwring fertilisation, the nuclei of

the spermn and the egg fuse o

form a single nucleus.

i i5 right but @ is wrong.

| 1S wrong baut o is nght.

i and i both are right.

| and n both are wrong.

The larges! gland in the human body
15

et i o

small intestine
large intestine
stomach

WM =

liver

'Goitre” is a disease of the
1.  pituitary gland

2. adrenal gland

3.  thyroid gland

4, Dancresas

Where did Lord Buddha pre ach for the
first time?

1. Kulch

2.  Ajanta caves
3. 5Sun lemple
4. =amath

Who built the Kandarya Mahadeva
lemple 7

1. Rajadeva Chola

2 Senal

3. Dhangadeva

4, Rajendra 1

Who was the revenue minister of
Akbar?

1. Man Singh

2 Todarmal

3. Bhanu Pratap

4 Abul Fazl
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Jnger whdawy EadasaiiMEleneralship

a4
dic the Revolt of 1857 broke out?
1 Warren Hastings
2 Lord Dalhousie
) Lord Canning
] Lard Hippon
40. With which state would you associale
the tribal community of 'Baiga'?
| Rajasthan
2. Jharkhand
3. Maharashtra
4, Madhya Pradesh
41. In which year was the famous battie of
Saringapatnam fought in which ‘Tiger
of Mysore' was defeated?
1% 1799
2. 1789
8. 1774
4, 1801
42.  Who was the founder of the kingdom
af Awadh?
1. Safdarjung
2. Saadatl Khan
3. Asaf Jah
4. Murshid Quli Khan
43. Who, of the following was made the
Mawab of Bengal twice by the East
India Company?
1.  Sirgj-ud-Daula
2,  Shah Alam II
3. Mir Qasim
4.  Mir Jafar
44. When and where was the Indian
Mational Congress formed?
1. Calcutta in November , 1885
2 Bombay in November, 1885
3. Calcutta in December, 1885
4 Bombay in ﬂE.'ﬂﬂl'l"lbﬂl:. 1885
DES&MOA/T]

45,

46.

47.

49,

50.

WhYVWWaEraRapsegater of the ‘Satya
Shodak Samaj'?

1. Jyolirao Phule

2. Narayan Guru

3. Veeresalingam
4. Ram Mohan Roy

Which one of the following is not a
factor of soil formation?
1.  Organic maftier

Soil texture

Time

Climate
Which country is the main importer of
Indian iron-gra?

1. Japan

2 USA

3. Ukraine

4, Brazil

Which of the following couniries was
the first one to produce hydroelectricity?
1.  Norway

2. China

3. Germany

4. Paraguay

What is meant by "Horticulture™?
Rearing of sillcworm
Rearing of fish

Cultivation of grapes

Cultivation of vegetables, flowers
and fruits

o B

In which direction does the River
Amazon flow?

1.  wesl to east
2. oeas! lo west
3. north to south
4. norh to west
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51.  Which animé@ny isdkesalal MeConiferous
forests?
1.  Silver fox
2. Mink
3. Tiger
4.  Polar bear
52. Where is Anaconda, one of the world's
largest snakes, found?
1.  Tropical deciduous forest
2. Tropical Evergreen forast
3. Temperate grasslands
4 Temperate Evergreen forests
53. Which of the following is not a
componenl of Human-Environment?
i. Land
2. Family
3. Religion
4.  Political Situation
54, What is Kimberley famous for 7
1.  Sliver
2. Gold
3. Platinum
4,  Diamond
§5. Till what depth doos Mantle extend
uplo?
1. 1900 Km
2, 3800 Km
3. 2900 Km
4, 4900 Km
56. Which one of the following is not a
permanent wind?
1. Trade wind
2.  Westerlies
3. Easterlies
4. Monsoon
DESLELOAN T

57.

a9,

B0,

61,

Whiskveldir b npselcorted as the ‘World

Water Day'?
1. March 22
2.  March 24
3  June 5
4., June 2

In which of the layers of tha
atmosphere, does rainfall occur?

1. Exosphere

2.  Troposphere
3. Stratosphere
d, Mesosphera

How many subjects are there in the
Union List 7

1. 47
2 &7
3. 66
4 87

Who among the following persons is
acknowledged as the Yather of Indian
Constitution'?

1.  Mahatma Gandhi

2. Dr. B.R. Ambadkar
3. Dr. Rajendra Prasad
4, Jawaharlal Nehru

Where was (he first Lok Adalat hald?

1.  Chennai
2.  Mumbai
3. Dalhi

4, Calcutla

In which House are the "‘Money Bills’
introduced? '

1.  Both Lok Sabha and Rajya Sabha
2. Lok Sabha

3. Rajya Sabha

4, None of these

http://WWW.trbtnpsc.com/2014/0&/11'm'ms-exam-study-materials.html
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Which of twawy. Batesalniiet Custodian
of the Constitution'?

1. Supreme Court

2.  Pariament

3. Governor

4 Mayor

Whao appoints Chief Minister?
1. Governor

2. Pras:dent

3 Chief Justice
4,

Pame Minister

When the government prevents eithar
a news-item or a scenea from a movie
or lyrics of a song, being shared with
larger public. thes s referred [0 as:

1.  Democracy
2.  Federalism

3. Censorship
4. Dwctatorship

Where did Industrial Revolution begin?

1. England
2. France

3. Gemany
4. Russia

In which year was U.N.O. established?
1. 1943

2. 1944
1945
4. 1847

In which year was the Boycolt and
Swadeshi movemeant started?
i 8 1902

2. 1904
3. 1905
4. 1907

68,

0.

7.

7

73,

In wavciTriyEapsoeam Fanchayvali Ra
system introduced?

1 1952
2. 1947
3. 1979
4, 1959

Who calls the join! sitting of the two
houses?

1. The Pnme Minister

The Preswsent

The Speaker

The Deputy Speaker !

A certain freezing process requires that
room temperature be lowered from
40°C at lhe rate of 5°C evary hour.
What will be the room temperature 10
hours after the process begns?

oW o

1. +11°%C
2. +10°C
3. [ -10°C
4. =15C

A reclangular sheet of paper is | 2~ cm

%
long and 'Il.'l';{i ¢m wide. Find its

permeater.

1 a4 ; cim

2 d6 L cm
3

3 -1‘-51+:m
fy

4. 44 : cm
6

A car covars a distance of 89.1 km in
2.2 hours. What is the average distance
covered by it in 1 hour?

1. 504 Km
2. 545 Km
3. 555Km
4. 405 Km
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75.

76.

78,

DESEMA 2

The enroinféfi{' i 480G during 6
consecutive years was as follows:
1555, 1670, 1750, 2013, 2540, 2820
Find the mean enrolment of the school

for this period.
1 2058
2. 2158
3. 5028
4, 2540

Raju says that he has 7 marbles more
than 5 times the marbles Ramesh has
If Raju has 37 marbles. how many
marbles does Ramesh have?

1. 7 marbles

2, 5 marbles

3, 37 marbles

4., 6 marbles

A tree 1s broken at a hewght of 5 m
from the ground and its top touches
the ground at a distance of 12 m from
the base of the trea. Find the

height of tree.

1./ 18 m

2. 60m

3 20m

4 12m

Selling price of a toy car is Rs. 540. If
the profit made by the shopkeeper is
20%., What is the cost price of this
toy?

1. Rs. 350

2. Hs. 530

3. Rs. 450

4. Rs. 540

It Rajni gives an interest of Rs. 45 for
one year at 8 % rate per annum. \What
is the sum borrowed by her?

1. Rs. 600

2. Bs. 500
3. Hs. 650
- Hs. 550

The WH4- GFATERSRFABark is the same
as that of a rectangular park. If the
side of the square park is 60 m and
the length of the rectangular park is
90m, find the breadth of rectangular
park.

&0 m

50 m

90 m

40 m

ol

Find BC, if the area of the IMangle
ABC is 36 cm? and the height AD is

A cm.

A L]

3cm

__l
B 0 G
1. 24 cm
2. 42 cm
i 38 cm
4 26 cm

The radius of a circular pipe is 10 cm.
What length of a tape is required to
wrap once around the pipe 7 (z = 3.14)

1. 60.4 cm
2 526 cm
3 628cm
4 584 cm

Pawan divides a clreular disc of radius
7 cm in two equal parts. What is the
perimeler of each semicircular shape

22
disc? ( use & = -T_J
1. 63 cm
2. 34cm
3 36cm
4 42 cm
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83. If p=— 2, Mavifrdgsalasvet :
—2p3 —3p? + 4p +7
Eie=3
2.3
3 =2
4. 4

RE 2x3 =2’

B4. Simplify : e
1038
2. 1538
3 o2
4, 31

X 5 3

85, Solve: E+E__E
1. +12
2. =11
3.  +11
4, =12

86. The number of boys and girls in a
class are.in the ratie 7:5. The number
of boys is 8 more than the numbar &
girls. What is the total class strength?
1. B4 studants
2. B4 students
3. 48 students
4, 50 students

87. Monika thinks of a numbeaer and

5
subtracts - from it. She multiplies the
result by 8. The result now obtained is
3 times the number she thought of.
What iz the number?
1. a
2. 4
3. 8
PR 7
BESAMOAM2

8B.

89.

Thevawt bbdnpsaikde was Rs. 15.500.
R=. 450 were spent on its repairs. If
it is sold for a profit of 15%, find the
selling price of the article.

Hs. 18,342.50
Rs. 18,324 .50
Hs. 18,432.50
Hs. 18,234 .50

P 0 L.

The area of a rhombus is 240 ¢m?® and
one of the diagonals is 16 cm, find the
other diagonal.

1. 24 cm
2. 16 cm
3. 28cm
4 30cm

A scooter was bought at Rs. 42,000.
its value depreciated at the rate of B%
per annum. Find its value alter cne
year,

Hs. 38,406
Hs. 38,064
As. 38,640
As. 38,460

b W P
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2p" —3p +dp+ T
[

s e B3 =
] | L] L]
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P

|
2

3. +11
4

frdl s o amw st afass w1
Hemsi § M 7:5 ¥ Aft aww w
He afas w1 oem | 8 sy #
o w W wE fem femed #7

|, 84 foened
2. 54 faenef
3, 48 Teremed
4, 50 feanedt
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DESAMDENE

E G 1 =

b= LI = B S

I
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3.
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88.

89.

Tw SoyVhiDERasCoomo0 T i 450
=4 T OO W =@E oM od
I 3§ |5 Wiowd @9 W A= W
A == fa5s 9= 7@ =ieu

1. 1834250 &9

18,324.50 94

1843250 =94

18,234.50 =T

T THEIYA F OSAES 240 cm® ©
s ol § 9 w1 9=E 16 cm
t T T e T wifag

1. 24 cm

N R

16 cm
28 cm
30 em

L b P

90, UH TR 42000 T F w=iE mm

8% =T = | % WE9 W A
G I L e A el o

wiTam|

1. 38406 ®9Q
18,064 FUY
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1§ 460 FR
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